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Histograms (true_vs_measured values and resolution for energy,
pseudorapidity, and azimuthal angle) for the following detector-particle
palrs:

Central Electromagnetic Calorimeter (CEMC): electron
Endcap Electromagnetic Calorimeter (EEMC): electron
Forward Electromagnetic Calorimeter (FEMC): electron
Forward Hadronic Calorimeter (FHCAL): pion

Inner Hadronic Calorimeter (HCALIN): pion
Outer Hadronic Calorimeter (HCALOUT): pion



Simulation Parameters

cut: e>0.2 GeV:
detector-wise
eta cuts

e”, pi” (100k) p: [0,30] GeV/c

oht: [-p1,pi]

default units
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meas eta
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e resolution

CEMC (e)

Ae/ge vs ge
Explicit n cut: -4 to 4
Energy Cut: 0.2GeV
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CEMC (e)

Aphi vs ge
Explicit n cut: -4 to 4
Energy Cut: 0.2GeV
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CEMC (e)

Aeta vs ge
Explicit n cut: -4 to 4
Energy Cut: 0.2GeV
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EEMC (e’)

e vs ge
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meas_ &

EEMC (e’)

phi vs gphi
Explicit n cut: -3.6to -1.6
Energy Cut: 0.2GeV
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meas eta

EEMC (e’)

Explicit n cut: -3.6 to -1.6
Energy Cut: 0.2GeV
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e resolution

EEMC (e’)

Ae/ge vs ge
Explicit n cut: -3.6 to -1.6
Energy Cut: 0.2GeV
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EEMC (e’)

Aphi vs ge
Explicit n cut: -3.6to -1.6
Energy Cut: 0.2GeV
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A eta
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meas_e

meas e vstrue e {1.2 <true _eta<3.4, meas e > 0.2GeV}

FEMC (e’)

e vs ge
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meas_ &

meas ® vstrue @ {1.2 <true eta < 3.4, meas e > 0.2_GeML
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FEMC (e’)

eta vs geta
Explicit n cut: 1.2 to 3.4
Energy Cut: 0.2GeV
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e resolution
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Explicitncut: 1.2to 3.4
Energy Cut: 0.2GeV

(Ae/true_e)vstrue e{1.2<true eta<3.4, meas e>0.

hist_energy
Entries 25467
Mean x 19.97 PO
Meany -0.1888
StdDevx 7.029 Y
Std Dev y 0.07407 ho

—11600

11400
1200

1000
800

600
400

200

llllIllllIlllllIlllllllllllllllllllIlll

5 10 15 20 25 30 35 40
true_e

0

-



AD

FEMC (e’)

Aphi vs ge
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FEMC (e’)
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Aeta vs ge

Energy Cut: 0.2GeV

A etavs true_e {1.2 < true_eta < 3.4, meas_e > 0.2 GeV}

A eta

~
.IIIIIIlIIIlII

hist_eta

Entries 25467 DO

Mean x

Meany  0.001181

Std Dev x

Std Devy 0.01828

19.97

7.029 "

ST

—13000

—12500

2000

1500

1000

500






meas_e

60

50

40

30

20

10

FHCAL
S0 (<18 5L

meas_e vs true_e {1.2 <true_eta < 3.6, meas_e > 0.

hist_e_vs ge
Entries 60711 P
Mean x 20.53
Meany  11.29 f
Std Devx 6.764
StdDevy 6.751 D

—{140

=120
100
80
60
40

20

0 5 10 15 20 25 30 35
true_e

40



FHCAL

Explici
Ener

{

| VS aphl

P2}z

meas ® vstrue @ {1.2 < true_eta < 3.6, meas_e > O.Z_GeALL

4 hist_phi_vs_gphi

s Entries 60711

= Mean x —0.0008668
3 il Meany  —0.008589

= .- Std Dev x 1.809
21— 3 Std Devy 1.809 h
i - —1500
0 400
| 300
2 200
-3 100

__4 : | B I | B I N | I I | L1 1 1 | I Ebed | | ] I I L1 1 1 | | O b | 0

4 3 =2 -4 0 1 2 3 4

true_®



meas eta

FHCAL
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e resolution
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phi vs gphi
Explicitncut: -1.4to 1.2
Energy Cut: 0.2GeV

meas_phi vs true_phi {-1.4 <true_eta < 1.2, meas_e > 0.2 GeV)

hist_phi_vs_gphi

Entries 17260

e - - |Meanx  0.04885
gt : : - saugMeany 005241

5 Std Devx  1.819

StdDevy 1.818

—140

30

20
-2
35 10
-3 T
_4llllllllIlllllIlllIlIIlIllllIllllIllll O
24 -3 2 —1 0 1 2 3 4

true_phi



meas eta

HCALIN (p1°)

eta vs geta
Explicitncut: -1.4to 1.2
Energy Cut: 0.2GeV

meas_eta vs true_eta {-1.4 < true_eta < 1.2, meas_e > 0.2 GeV)

N

W

o
IIII|II|I|IIII|IIII|IIII|IIII|IIII|IIII

IlllllllllllllllIlllIllllIllllIllll

hist_eta_vs_geta

Entries 17260 p
Meanx -0.01795
Mean y -0.0167 |
Std Devx  0.6741
Std Dev y 0.667"1

100

80

60

40

20

" i M

-3

-2

-1 0 1

2

3 4
true_eta



e resolution

HCALIN (p1°)
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HCALOUT (pi’)

phi vs gphi
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